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$UEHWVWDJDUVLGDQ� 6$&2�6
6(.2
2)5�I|UEXQGVRPUnGHQ�6��3�RFK�2�VDPPDQWDJQD

bUHQGH� 6DPRUGQLQJ�PHOODQ�WMlQVWHSHQVLRQ�HQOLJW�3$����RFK
3$����RFK�ODJVWDGJDG�SHQVLRQ�P�P�

'HQ���MDQXDUL������XSSK|U�QXYDUDQGH�EHVWlPPHOVHU�L�ODJHQ������������RP�DOOPlQ�I|UVlNULQJ
RP�IRONSHQVLRQ��DOOPlQ�WLOOlJJVSHQVLRQ�RFK�SHQVLRQVWLOOVNRWW�DWW�JlOOD�RFK�HUVlWWV�DY�Q\
ODJVWLIWQLQJ��,�ODJHQ������������RP�LQNRPVWJUXQGDG�nOGHUVSHQVLRQ��/,3��ILQQV�EHVWlPPHOVHU
RP�LQNRPVWSHQVLRQ��SUHPLHSHQVLRQ�RFK�WLOOlJJVSHQVLRQ�RFK�L�ODJHQ������������RP
JDUDQWLSHQVLRQ�UHJOHUDV�UlWWHQ�WLOO�JDUDQWLSHQVLRQ��9LGDUH�HUVlWWV�QXYDUDQGH�I|UWLGVSHQVLRQ�RFK
VMXNELGUDJ�DY�VMXNHUVlWWQLQJ�UHVSHNWLYH�WLGVEHJUlQVDG�VMXNHUVlWWQLQJ�VDPW�DNWLYLWHWVHUlWWQLQJ
JHQRP�lQGULQJ�L�ODJHQ�RP�DOOPlQ�I|UVlNULQJ��6)6�����������

6DPWOLJD�I|UlQGULQJDU�JlOOHU�lYHQ�GHP�VRP�XSSElU�SHQVLRQ�HQOLJW�QXYDUDQGH�EHVWlPPHOVHU�

���
3DUWHUQD�NRQVWDWHUDU�DWW�GHQ�Q\D�ODJVWLIWQLQJHQ�LQQHElU�JHQRPJULSDQGH�I|UlQGULQJDU��1\D
VRFLDOI|UVlNULQJVI|UPnQHU�KDU�WLOONRPPLW�VDPWLGLJW�VRP�EHVNDWWQLQJVUHJOHUQD�lQGUDV��3DUWHUQD
lU�HQVH�RP�DWW�GHWWD�InU�NRQVHNYHQVHU�I|U�EHUlNQLQJ�DY�EUXWWRSHQVLRQVI|UPnQHUQD�L�$OOPlQW
SHQVLRQVDYWDO�I|U�VWDWOLJD�RFK�YLVVD�DQGUD�WMlQVWHPlQ�VOXWHW�������������3$������PHG
WLOOK|UDQGH�UHJHOYHUN�635�RFK�7%�635��'HQ�Q\D�ODJVWLIWQLQJHQ�InU�NRQVHNYHQVHU�lYHQ�I|U�3$�
���

���
6\IWHW�PHG�GHWWD�DYWDO�lU�DWW�P|MOLJJ|UD�DWW�EUXWWRXWIlVWHOVHQ�HQOLJW�3$�����VNDOO�NXQQD�LQIULDV�
3DUWHUQD�lU�HQVH�RP�DWW�DQSDVVQLQJHQ�DY�VDPRUGQLQJVUHJOHUQD�L�3$����RFK�3$����LQWH�VNDOO
LQQHElUD�DWW�QnJRQ�Sn�JUXQG�DY�GHQ�Q\D�ODJVWLIWQLQJHQ�InU�HQ�OlJUH�WMlQVWHSHQVLRQ�PHQ�LQWH
KHOOHU�HQ�K|JUH�WMlQVWHSHQVLRQ�

���
3DUWHUQD�lU�HQVH�RP�DWW�SDUWHUQD�PHG�VW|G�DY�EHVWlPPHOVHUQD�L�����635�RFK�����7%�635�KDU
EHK|ULJKHW�DWW�WUlIID�DYWDO�RP�HUIRUGHUOLJ�DQSDVVQLQJ�DY�EHVWlPPHOVHUQD�L�3$����WLOO�GHQ�Q\D
ODJVWLIWQLQJHQ�

���
3DUWHUQD�lU�|YHUHQV�RP�DWW�VDPRUGQLQJ�DY�WMlQVWHSHQVLRQ�PHG�ODJVWDGJDG�SHQVLRQ�IU�R�P��GHQ
��MDQXDUL������VNDOO�J|UDV�HQOLJW�ELODJD��3DUWHUQD�KDU�I|U�DYVLNW�DWW�VQDUDVW�P|MOLJW�LQDUEHWD
ELODJDQ�L�����7%�635�RFK������3$����L�GHVV�O\GHOVH�I|UH�GHQ���MDQXDUL������



���
3DUWHUQD�lU�HQVH�RP�DWW�GHQ�GHO�DY�WMlQVWHSHQVLRQVI|UPnQHQ�VRP�VDPRUGQDV�PHG�ODJVWDGJDGH
SHQVLRQVI|UPnQHU�OLNVRP�WLGLJDUH�VNDOO�KD�VDPPD�LQGH[XSSUlNQLQJ�VRP�GH�ODJVWDGJDGH
SHQVLRQHUQD��I|OMVDPKHWVLQGH[�HOOHU�SULVEDVEHORSS���'RFN�InU�YlUGHW�DY�WMlQVWHSHQVLRQHQ�LQWH
YLG�QnJRW�WLOOIlOOH�XQGHUVWLJD�GHW�YlUGH�VRP�WMlQVWHSHQVLRQHQ�VNXOOH�KD�KDIW�RP�GHQ�IU�R�P��GHQ
��MDQXDUL�������HOOHU�IUnQ�GHQ�VHQDUH�WLGSXQNW�VRP�WMlQVWHSHQVLRQ�E|UMDW�XWJn��KDGH�UlNQDWV�XSS
PHG�SULVEDVEHORSSHW�HQOLJW�ODJHQ�RP�DOOPlQ�I|UVlNULQJ�

gYULJ�GHO�DY�WMlQVWHSHQVLRQVI|UPnQHQ�VNDOO�lYHQ�IRUWVlWWQLQJVYLV�UlNQDV�RP�PHG�KMlOS�DY
SULVEDVEHORSSHW�HQOLJW�ODJHQ�RP�DOOPlQ�I|UVlNULQJ�

���
)|U�GHW�IDOO�GH�UHYLGHUDGH�VDPRUGQLQJVEHVWlPPHOVHUQD�HQOLJW�ELODJD�L�HWW�HQVNLOW�IDOO�PHGI|U�DWW
GH�XWIlVWD�SHQVLRQVI|UPnQHUQD�|YHUVWLJV�HOOHU�LQWH�LQIULDV�VND�SHQVLRQVEHUlNQLQJHQ�NRUULJHUDV�
3DUWHUQD�lU�YLGDUH�|YHUHQV�RP�DWW�XWEHWDOQLQJ�DY�SHQVLRQVEHORSS�XQGHU������LQWH�VNDOO�XWJ|UD
XWIlVWHOVHU�L�VLJ�XWDQ�DQVHV�VRP�SUHOLPLQlUD�L�Vn�PnWWR�DWW�IUDPWLGD�XWEHWDOQLQJDU�NDQ�NRPPD
DWW�NRUULJHUDV�

���
2P�HQ�SHUVRQ�I|GG������HOOHU�VHQDUH�Sn�JUXQG�DY�GHQ�I|UlQGUDGH�EHVNDWWQLQJHQ�DY�ODJVWDGJDG
SHQVLRQ�IU�R�P��GHQ���MDQXDUL������InU�HQ�RVNlOLJW�OnJ�SHQVLRQ�VNDOO��SDUWHUQD�Sn�639�V
EHJlUDQ�SU|YD�SHQVLRQHQV�VWRUOHN�L�HQ�DY�SDUWHUQD�LQUlWWDG�QlPQG�
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